
->332 + (-31272 -3572+ 130772
= -3+ q]2 - 3572 + 3023
= -3 + 97 -3572 +90072
=) -3 + q -35 +q00)]2
= 87122



30x 30x+304x2-20x3

=900x2 + 27
.000x + 810 .800x2-20x3

=900x+810
.
000 x + 27

.000x-20x3

= (900 + 810 . 000x+ (27 . 000 -20)x
= 810. 900x + 26. 980x3



1x +12 + 13x3+ (-1)x +1-1)x+(-1)x3

= 1x + 1x2 + 1x3 + (-1)x+ 1x + (-1)x3

= 1x + (-1)x + 1x +1x+ 1x3 + (-1) x
3

= (1+ 1-1))x +(1+x)x2 + (1 + (-1)) x3

= (1=1)x + 2x2 + (1- 1)x3

=0x + 2x + 0x3

= 2 x
2



25 - 97 +582

= (2-9)] +572

=

+ 372

778 +234 -338
= 7j8 -378 + 234
= (7 -3)j8 + 234
= 478 +234



352 - 832 -372 + 636
= (1 - 8 -3)32 + 636
=
-82+ 636
-

40 -35810 +303 - 010
= 40 +303 -35010-010
= (4+3)0+ 1-35 -1)0
=

70 + (-36010
= 703 - 36010



448 -847 +947 -18+47
= 48-18 - 847+947 +27
- (4 - 1)18 + 1 - 8+9 +1)27
= 378 24t
+04-0-202-04-404
= 0-0 +0-202+0-8+04-4p4

=(1 - 1)0 + (1- 2)0+ (1-3)0+H-404

=00 + ( )0+ (-2)0+13/04
I -10 - 20 -304



403 - 204 -04 +305 -04
= 48+303-204-04 -04
= (4+3)05 + (-2 - 1 -1)04
= 70 + (- 4)04
= 70 - 404


